


What is 
𝟑

𝟓
𝒐𝒇 𝟓𝟓?

By looking at the denominator we know that the whole is broken into 5.

55

?

To work out the value follow this formula 

Whole number ÷ denominator x numerator

55 ÷ 5 = 11 x 3= 3



What is 
𝟒

𝟕
𝒐𝒇 𝟓𝟔?

What about this one?.

56

?

Whole number ÷ denominator x numerator



What is 
𝟒

𝟕
𝒐𝒇 𝟓𝟔?

What about this one?.

56

?

Whole number ÷ denominator x numerator

56 ÷ 7= 8 x 4 = 32



What is 
𝟔

𝟗
𝒐𝒇 𝟖𝟏?

What about this one?.

81

?

Whole number ÷ denominator x numerator



What is 
𝟔

𝟗
𝒐𝒇 𝟖𝟏?

What about this one?.

81

?

Whole number ÷ denominator x numerator

81 ÷ 9= 9 x 6 = 54



What is 
𝟗

𝟏𝟐
𝒐𝒇 𝟗𝟔?

What about this one?.

96

?

Whole number ÷ denominator x numerator



What is 
𝟗

𝟏𝟐
𝒐𝒇 𝟗𝟔?

What about this one?.

96

?

Whole number ÷ denominator x numerator

96 ÷ 12= 8 x 9 = 72



Now try these



a) 9 b) 24 c) 30

18 12 30

27 6 30



Can you apply this skill in a 

word problem



How did you do

a) You need to work out the value 

of 
1

3
.

So 165÷ 3=55

There are 55 adults and 110 

children

b)We need to work out 
3

5
of 110.

110÷ 5=22

22 x 3 = 66

There are 66 boys on the trip.

c) If we know  
7

10
have an apple 

this tells us 
3

10
didn’t have an 

apple. So 110÷ 10=11

11 x 3 = 33.

33 children did not have an 

apple



What about tricky word 

problems?

In a flower shop 
7

12
of the tulips are red. 

If there are 56 red tulip, how many tulips are there in total in the shop?

Hmmmm how shall we tackle 

this one?



What about tricky word 

problems?

In a flower shop 
7

12
of the tulips are red. 

If there are 56 red tulip, how many tulips are there in total in the shop?

Lets try a bar model = 56
7

12

12

12
=   ?



What about tricky word 

problems?

In a flower shop 
7

12
of the tulips are red. 

If there are 56 red tulip, how many tulips are there in total in the shop?

Lets try a bar model

= 56
7

12

12

12
=   96

This time we divide by the 

numerator.

56 ÷ 7 = 8

Then we multiply by the 

denominator. 

8 x 12 =96



You try this one

Remember the steps:

Divide by the NUMERATOR

Multiply by the DENOMINATOR

In a café 
3

4
of the table cloths have spots on. 

If there are 39 spotty table cloths, how many table cloths are there in total in 

the café? 
3

4
= 39

4

4
= ?



You try this one

Remember the steps:

Divide by the NUMERATOR

Multiply by the DENOMINATOR

In a café 
3

4
of the table cloths have spots on. 

If there are 39 spotty table cloths, how many table cloths are there in total in 

the café? 

3

4
= 39

4

4
= ?

Answer:

There are 52 table cloths in total. 



Your turn

Remember the steps:

Divide by the NUMERATOR

Multiply by the DENOMINATOR

Choose your challenge starting p4 of 

your Home Learning Booklets. 

1st set- Mild

2nd set- Warm-

3rd set- HOT HOT HOT


